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2 ROFHEZ LRIV,
(1) 5x+y—-3x—6y (2) 6a—3b+a—2b

(3) (9x+5y)+ (2x—6y) (4) (47 -T7x+2)+ (=52 +x-3)

(5) (5a—-3b)—(7a-0b) (6) (3x*+7x-5)—(—-224°+3x—6)



3 RDEMHEZ LRIV,

(1) (—3x+2y) x4 (2) (%“’—%)xw
(3) —4(-2a-3b) (1) - (—124+18y)
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(5) (15a-40b) =5 6) (—16x+24y) = (-8)

(7) 3(2a—4b) —4(—a+2b) (8) —2(bx+3y) —3(x—2y)



4 ROFHZT L% I,
(1) 2xX5y (2) (—3a)x(—5b)

(3) 6xx(—2x) (4) (—=3a)x(—2b)”

(5) 24xy+ (—3x) (6) (—14a’b*) = (—T7ab)



(7 9x2y+(—%y) 8) Gab’= (——ab

(9) 24a°y~+ (—8wy) x (—2x) 10 30xy*+ (—3x) 5y
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6 KoX%E, [ ) OHOLFIZOWTIHE 7 X,
10x+2y=3 (y)
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